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Question 1.Select the related word/letters/numbers from the alternatives:
&3 I faehodl 7 @ Aelfetrd Ysey 3TaT/TEAT 1 IAT|
Pig:Sty::Dog:?

3T 2 YA & Fecll & ?
Options:

1) Burrow

forer

2) Hives

Sed

3) Shed

B

4) Kennel

Fedl T

Correct Answer: Kennel
SWT w

Candidate Answer: Kennel
gvr_dT W

Question 2.Select the related word/letters/numbers from the alternatives:
&3 I faehodl A @ Aelfetrd Ysey 3TaT/TEAT 1 IfAT|

BDGK : ACFJ]: : ?: DFIM

Options:
1) FKGH

2) EGIN
3) EGIK

4) FGHI
Correct Answer: EGIN
Candidate Answer: EGIN

Question 3.Select the related word/letters/numbers from the alternatives:
&3 a3y faehedl & & efetre Qrse)/316RI/EEaT 1 giav|

01:36::02:7?

Options:

1) 48

2) 49

3) 69

4) 70
Correct Answer: 49
Candidate Answer: [ NOT ANSWERED ]
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Question 4. Downloaded from www.qmaths.in

For the following questions

Find the odd word/letters/number from the given alternatives.

EATET weaT & foT 10 fqenedl & & TawH 2lee/316T/HEdT I giAv ?
Options:

1) House

HeRIA

2) Stable

3Eddel

3) Hut

EIRED

4) Cottage

Hfear

2
Correct Answer: Stable
EESSERE

Candidate Answer: Cottage
Hfear

)

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

PrfafEd wea # U a1v feredl 7 & fawe eree) 37ew/dedm &1 gfav ?

Options:
1) BDGK

2) JLOS
3) NPSW

4) MORU
Correct Answer: MORU
Candidate Answer: MORU

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

TFATET weaT & faT 1w fenedl & & TawH 2lee/31T/HEdT I giAT ?

Options:
1) 484

2) 529
3) 625

4) 566
Correct Answer: 566
Candidate Answer: 566
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Question 7.Amongst the given responses C@@W'nl oade(ﬂséﬁm m WWW. q m ath S. i N

fArfaf@d fasedt 7 & wla-ar faswed 1 fow gu ereel @1 @i s axfiar & ?
1. College

2. Infant

3. Child

4. School

5. Youth

Options:

1)2,4,3,1,5
2)2,3,4,1,5
3)24,3,51

4)2,3451
Correct Answer: 2,3,4,5,1
Candidate Answer: 2,3,4,5,1

Question 8.A series is given,with one term missing. Choose amongst the given responses choose the meaningful one

TAFAoREe TeaT 1 Toh 3reTsha T ara 8, TSl Ueh v ofed &1 few I1e fashedt & & TEl faehed Iofeht 3iafshat shl X1 HITSTT|
CUS, DVT, EWU, ____

Options:

1) FXV

2) VXF
3) XFV

4) XVF
Correct Answer: FXV
Candidate Answer: FXV

Question 9.A series is given,with one term missing. Choose amongst the given responses choose the meaningful one

TrATaTREe Tea 3 Toh 37eThe T arar &, Toree Ueh v ofed &1 fw 1v fashedt & & eI faehod ToTeht 31efshel sl O HITSIT |
206, 221, 251, 296, ?, 431

Options:
1) 326

2) 356
3) 311

4) 341
Correct Answer: 356
Candidate Answer: 356

Question 10.If A is the mother of B and K, D is the husband of A. E is the son of D's brother. What is the relation of A with E

A,B3IRKHACGTE, D, ARTafad g1 E, D & IS FT oI5l §| T A I E o T 9T ToeeeT § ?
Options:

1) Mother in law

ar|g

2) Sister in law

e sl

3) Aunt

arr

4) Sister

Ero

Correct Answer: Aunt
T

Candidate Answer: Aunt

T

Question 11.Kathir is senior of Ganesh. Ganesh is senior of Apparu. Apparu is junior of Raju. Raju is junior of Ganesh. Who is the most senior?
I, 0T & ARTS §1 M0, 3ouT% @ ARTS §1 AT, o A HASS §1 TS, T0RN A HeAss §| Fod aRss HT § ?
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Options: Downloaded from www.qmaths.in

1) Ganesh
aorer

2) Raju
TS

3) Kathir
FR

4) Apparu
E 518

Correct Answer: Kathir

I

Candidate Answer: Kathir
HIR

Question 12.Select the word which cannot be formed using the letters of the given word

TeATEr faehetl & & a8 2ec YT S TGU 91T 2lee & 3R T FANT dleh w61 ST ST HehclT|
REJUVENATION

Options:

1) JUTE

2) NATION
3) REVISION

4) NATIVE
Correct Answer: REVISION
Candidate Answer: REVISION

Question 13.If A=1, HAT=29, then PAN=?

g A = 1, HAT = 298), @Y PAN = ?
Options:

1)21

2)31

3)41

4) 28
Correct Answer: 31
Candidate Answer: 31

o

Question 14.If 'x' means 'addition’, '-' means 'division', '/' means 'subtraction' and '+' means 'multiplication’, then which of the equation is correct

T " X " FHTold SIS, "-" T FHcTold $HT, " / " FT Hel el T 3T "+ T HATIel I[ON &, AT faT 7T Taehedd’ & & Hlerar qelientor T ¢ ?
Options:

1) 25+10-5/10X3=43

2) 25-10X5+10/3=72

3) 25X10/5+10-3=12

4) 25/10+5X10/3=18
Correct Answer: 25+10-5/10X3=43
Candidate Answer: [ NOT ANSWERED ]

Question 15.In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

TS TN Toh ARG JoTel & e fohT 1T 81 38 3R R T 10 fashedt # & T 3cck g fof@e ?
53 - 34 = 5334

65 - 46 = 6456

75-24=?
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Options: Downloaded from www.qmaths.in

1) 7542
2) 7524
3) 7452

4) 7254
Correct Answer: 7254
Candidate Answer: 7524

Question 16.Select the missing images from the given responses:

Rw 1w fashedt # & qed 3 A ST
6 5 26
4 7 32
? 9 44
Options:
1)8
2)31
3)32
4) 36

Correct Answer: 8
Candidate Answer: [ NOT ANSWERED ]

Question 17.Deepak starts walking straight towards east. After walking 75 metres, he turns to the left and walks 25 metres straight. Again he turns to the left, walks
a distance of 40 metres straight, again he turns to the left and walks a distance of 25 metres. How far is he from the starting point?

ek qd T 3R =T 6 AT &1 75 FIT Teket & 1 a8 q1¢ 73T ¢ 3R 25 Flex e wefarr &1 T & a5 S10 HsaT § R 40 ey A wofar &1 a8 R A qiv Fgzarg
R 25 #eX AT ¥ € IRTFTF foiog & foheiall g7 & 2
Options:

1)35m

35 AKX

2)50m

50 #Hrex

3)115m

115 Arex

4) 140 m

140 Arex

Correct Answer: 35 m

35 #H:X

Candidate Answer: 35 m

35 #AeX

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements : 1. All fish are tortoise.

2. No tortoise is a crocodile.

Conclusion : I. No crocodile is a fish.

II. No fish is a crocodile

RAFATATET T2 & Tk IT &Y gFaey A 3 &, fowe 3 & Asand/A=Iam, 1 3R 11 e a3 & 3y faaR aen § 7 aordey acg § O 98 OWeaa: od a2t a
T Tt 81T 81 3TIeht ToRT et & o foU 917 gardey & & Ai-ar ARad 9 3 Ter fAsay/Aadr Hhrer ST JehdT & ?
AT : 1. WT Foforal FgU
2. TS FHIT FIHS oTeT
SRy : 1) IS FIRATS ASN 781 o
11) P& FSA HIRHS 8T &
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Options: Downloaded from www.qmaths.in

1) Only conclusion I follows

ool sy 1 TE &

2) Only conclusion II follows

hae sy 11 e &1

3) Both conclusions I & II follows
AT forsey I & I1 T8 §1

4) Neither conclusion I nor II follows

AT ar forsen [ |61 § 3R a7 & fovsen 11\ &
Correct Answer: Both conclusions I & II follows
gt foses [ & 11 &Y €

Candidate Answer: Both conclusions I & II follows

At sy I & 11 @Y ¥

Question 19.How many triangles can be found out from the following figure:

PR 3 3% Rrce) Fagsr @t o Fet & 2

Options:
1) 17

2)21
3) 24

4) 25
Correct Answer: 25
Candidate Answer: 21

Question 20.Identify the diagram that best represents the relationship among classes given below: Universe,Stars,Sun

a8 o 3m@ gfaw S &l e are et & o w sy i =far &) g, an, g
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Options: Downloaded from www.qmaths.in

1)

f/ \

N

/)
/

1
AYE

2)

3)

4)

1] (\__/_

Correct Answer:
T

_,;,’/'”‘“\

i ))

N

NN /,

N T

Candidate Answer:
T~

LTSN

()

NN o
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Question 21.Which answer figure will com{ v oaekeabfoom www. q maths.in

HlT-A SR TR T2 TR & TTTET 1 R B ?

R

P

I

Options:
1)
]
2)
;'m
I
3)
D
4)
[
I |
Corr_ect Answer:
D
Canczlidate-l_\nswer:
D
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Question 22.Select the one in which the quf) @ fauytoeckeelfrom www. q maths.in
& % 3ca’ I FerT 3 § 3/ Seal 3T AT o weat i fga 8

N /
N £
v 5
/ N
i);)tions:
™
™
2) .
T
.
3)
TN
SNLLA ’
4)

\:\/
/s
4

Correct Answer:
|

A

Candidate Answer:

N
Z

/ \\._. |
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Question 23.A piece of paper is folded and B} oW 'H o @d@d fereim |wwvvvqa|1nat(h s.in
I el et Y, SR o 3TN IS 1T ST ot Eielst I a5 e 3ot 3mapfer S fewrs &am 2

COIF Bl =
o T s s
]
Options:
1)
a0 aa
=)
P

T oo
2)

&1 a
o “o

o [+
o) I O T
5]

OO o]
3)

O =,

OH-
&

(g 1 & W)
4)

o Oo
T e TTE T
O 50
TPoHHToRH
Correct An;wer:

SPHTS
T e TTE T
O R0
TPoHToRH
Candidate Answer:

QQ | OO
T e TTE T
O [+ ; L] 0
TPoHToRH
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Question 24.Mirror is placed on the line MNCIh) WAilh by E@xch@ o i mrww e . q maths.in
7 Teh gduT & MN 1@ 9T I@T ST At & 18 3ea IThiadl A @ Hlar-dr 3mefar weat 3nehfar o1 wgy wfafas gaf ?

2)

3)

i

Correct Answer:

0SS

Candidate Answer:

hig
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Question 25.In the question, a word is repwnvlloa d@‘dmprVWWWe mthgs [ sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows Jf Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9.A letter from this matrix can be represented first by its row and next by its coloum ex "A" can be represented by 03,10,etc and "P" can be
represented by 55, 67, etc. Similarly, you have to identify the set for the word "REST"

Frfafld wee 7 et 7 T a1v dear-wegg, 318RT & o 991t gan fiv arv §, SR 3 o) T a1w 2 smeggt 1 €1 3megp 1 & Faws iR dfeq raem 0 a4 as &
T, 3R ATeTE 11 & 5§ 9 T, IoT 3TeTg A Uh &R Y Ugel 3T Iebe AR ST 3 T HEAT ZaRT &ffam ST Fehell ¥1 3eT6R0T & fAIw, A 1 03, 10, 3nfe gaRT a=far
ST HehelT § AT P &1 55, 67, 311 SaRT G=fT ST §haTT &1 S a¥e O 3T9e! fGU 21eg 'REST' & folw Hefg &1 Tgemetetm 1

MATRIX | MATRIX I

EEREIERE 56|78
o|L|nN|E|Aa|c||[s5|P|T|O|R]|S5|
1]alecln]E 6§  R|Ss|P | T o
2 | n|e|lalc|Lt||[z|T|o|RrR]|s]|P
alc|L|n|E]A s|s|p|lT]0R
salelalcluinl|e o|rR|s|r]|T
Options:

1) 96, 33, 44, 87
2) 58, 21, 85, 75
3) 89, 40, 31, 56

4) 77, 10, 55, 68
Correct Answer: 58, 21, 85, 75
Candidate Answer: 58, 21, 85, 75

Question 26.CENVAT is related to which of the following ?

i e gefia g ?
Options:

1) Sales Tax

[EEDETS

2) Excise Duty

3T Yok

3) Custom Duty

AT Yok

4) Service Tax

Jar &

Correct Answer: Excise Duty
3T Yok

Candidate Answer: Sales Tax

TR X

Question 27.Malthusian theory is associated with which of the following ?

AT i fhad daferd & ?
Options:

1) Poverty

EIRETR: |

2) Employment

TR &

3) Diseases

M

4) Population

AT H

Correct Answer: Population
Eorek:

Candidate Answer: [ NOT ANSWERED ]

Question 28.An amendment of the constitution may be initiated ____

THiITeT TR T FRIAEY IRT T T bl g

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Options: Downloaded from www.qmaths.in

1) by introduction by the President of India.

Ife HRT & TSgUfa g@RT SFATTAT T AT |

2) by introduction of a Bill in Rajya Sabha.

afg e T fadas @ g fRar s |

3) by the Governors of States.

[T & TqaTell GaNT |

4) by the introduction of a bill in either House of Parliament.
ITe; TG & forar ot Teet & g ger fopar e |

Correct Answer: by the introduction of a bill in either House of Parliament.

Iie T & Y o TeaT & dae ger fopar e |

Candidate Answer: by the introduction of a bill in either House of Parliament.
g Toe & T i Ie & 9T ger fRar s |

Question 29.Kamarup is an ancient name of which region of India?

AR F 7T 8T & 'SR’ T TR AT § ?
Options:

1) Bihar

[EE

2) Rajasthan

e eSlic

3) Karnataka

Fetleh

4) Assam

3IaH

Correct Answer: Assam
A
Candidate Answer: Karnataka

FelTeh

Question 30.Which is the parameter for the economic development ?

N AT T I AeTTaad A A HT arg ?
Options:

1) Per capita monetary income

giar egfed Hifaew 3ma

2) National income

TG 3T

3) Per capita rural income

gfar egferd amoT 3m

4) Population

FAEEAT

Correct Answer: Per capita monetary income
gfa safed #ifesw 3ma

Candidate Answer: Per capita rural income

ufa safea amefor 3ma

Tyg 9 giar § 5 g Featr .. F IWEATg ?
Options:

1) Tropic of Capricorn

HH @1

2) Tropic of Cancer

&k @1

3) Poles

4t &

4) Equator

AT

Correct Answer: Equator
sTHEIET

Candidate Answer: Equator
IR

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Question 32.Which battle led to the downfa )iywvivde@eled from www. q maths.in

HleT-& I A FASTIAIR FAT T Gl G317 ?
Options:

1) Battle of Takkolam

arrge 3e

2) Battle of Talikota

arferpler Ig

3) Battle of Kanwah

Fleale g

4) Battle of Panipat

AT I

Correct Answer: Battle of Talikota
arferpler Ig

Candidate Answer: Battle of Talikota
aferpler Ig

Question 33.The antibiotic penicillin is obtained from which of the following ?

gfaeha afeael= fray ared 8T & ?
Options:

1) synthetic process

FA T

2) a bacterium

Teh Sfaro] &

3) fungus

Fas o

4) virus infected cells

ooy ST IR &
Correct Answer: fungus
Fas o

Candidate Answer: fungus
Fash o

Question 34.Among the world oceans, which ocean is having the widest continental shelf ?

e & AR # foh AGRIPR 1 FaTfes disr AgIed i et ¢ ?
Options:

1) Antarctic ocean

3TecTehieeh FERINR

2) Arctic Ocean

3ThTCH AERPR

3) Indian Ocean

foeg FgENR

4) Atlantic ocean

TCallfeceh FERRR

Correct Answer: Arctic Ocean
3ThTCH AENPR

Candidate Answer: Antarctic ocean

3eCThicsh FERIPR

Question 35.Data in database at a particular point of time is called as?

el faQIY Torer 3 STeTerd 3 31eT 1 T Fidt ¢ ?
Options:

1) Intension

ol

2) Extension

TFHCRUT

3) Back up

§F 3T

4) Application

TCelheTeT

Correct Answer: Extension
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Candidate Answer: [ NOT AnswereD IDownloaded from www.gmaths.in

Question 36.Which is largest peninsular river in India?

R F TIH T2 YRR 76 T W ?
Options:

1) Krishna

T

2) Godavari

TMerad

3) Cauvery

HTET

4) Mahanadi

HETTEr

Correct Answer: Godavari

Terasr
Candidate Answer: Godavari

et

Question 37.Red soil is normally found in India in which regions?

R H el fAET A i § 817 3 I15 AT § 2

Options:

1) Eastern Region only

drer vt &

2) Southern Region only

FHad alaT & 7

3) Eastern & Southern part of the Deccan Plateau

gfarolt qor & qdf 3T gfarol smer 7

4) None of these

& A A HE AL

Correct Answer: Eastern & Southern part of the Deccan Plateau
&l gor & gt 31 afaroh smer o

Candidate Answer: Eastern & Southern part of the Deccan Plateau

Bl T & it T RN s o

Question 38.Who introduced Mansabdari system in India?

AR H Aegaerl 2T forae g% & ?
Options:

1) Babur

EICEY

2) Humayun

3) Akbar

3haT

4) Jahangir

eIk

Correct Answer: Akbar
Hhs

Candidate Answer: Akbar
K;CCEY

Question 39.Limestone is a raw material used by which industry?

AT 7 & Rre 3eZeT carT o (EATSH) &l AT el Al & §9 A Fhar Sirar g ?
Options:

1) Aluminium

[ GIEICRE)

)

2) Fertilizers
IRE

3) Cement
A

4) Petrochemicals
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Correct Answer: Cement Downloaded from www.qmaths.in
Ca!'ldidate Answer: Cement

EIE: oS

Question 40.The Directive Principles of State Policy has been adopted from which Constitution?

FT F AU T T AT AvTF FERF deg 390 v §?
Options:

1) U.S. Constitution

3R dfaeeT

2) British Constitution

fofeer dfqeme

3) Irish Constitution

3mSR FfaeT

4) French Constitution

AR GfaeeT

Correct Answer: Irish Constitution
3msfer dfaeme

Candidate Answer: Irish Constitution

3sier afaemr

Question 41.Which of the following is indicated by the colour of a star ?

an &1 aut e o Rree gae § ?
Options:

1) weight

ERGE

2) distance

i

3) temperature

GISEICE

4) size

3TPR

Correct Answer: temperature
GISEICE

Candidate Answer: [ NOT ANSWERED ]

Question 42.Atomic number of an atom gives the number of which of the following ?

Tl TRATU] 1 AT HEdT § e Tl & & foherehl TEdT &l gl Teldl § ?

Options:
1) electrons
Forrglel

2) protons

Siic

3) neutrons

O'qe\i Va

4) neutrons and protons
Correct Answer: protons
el

Candidate Answer: electrons

Forrglel
Question 43.DPT vaccine is categorized as which of the following ?

S i & e ffaf@a 7 & e yFR FT gIar g ?

Visit www.gmaths.in for tons of free study materials and latest exam updates.
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Options: Downloaded from www.qmaths.in

1) Anti viral vaccine

gicfasmoger &t

2) Anti protozoan vaccine

gfar gieren3te et

3) Anti rickettsial vaccine

gfar Renefaue drer

4) A combined vaccine

Teh TYFT T

Correct Answer: A combined vaccine
Teh EYeF T

Candidate Answer: A combined vaccine

Question 44.Which is the highest quality of hard coal?

HON el T G e J[OTaedT dTell hieT AT HIAl § ?
Options:

1) Anthracite

VeYrARe

2) Bituminous

[EEGEE
3) Lignite
IGCoIEr

4) Peat
i

Correct Answer: Anthracite
VEYART

Candidate Answer: Anthracite
Veyrase

Question 45.For which one of the following, 'Diodes' are generally used for?

3ME T g Aefaf@d & & forass faw grr:fhar srar g 2
Options:

1) Rectification

Rl

2) Amplification

gaele

3) Modulation

srfafFsor

4) Filtration

faeiesT (fheetes)

Correct Answer: Rectification

el

Candidate Answer: Modulation

3rfafFsmor

Question 46.An anemometer measures which of the following ?

Vel foReeRT AT T § ?
Options:

1) Speed of light

eIl Y a1l

2) Speed of wind

arg & arfer

3) Speed of water current

SToT 9RT I a1fed

4) Speed of satellites

39 Fr AT

Correct Answer: Speed of wind
arg & arfer

Candidate Answer: Speed of wind
arg i arfer
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Question 47.Mission Indradhanush’ campafg) @ Wirdeaicdeadfrom www. qm aths.in

AR A TR geoerey ' AP frad S e ?
Options:

1) Nutrition to Pregnant Women

T ARG F AIF HER &

2) Awareness of Diabetes

ST (FYHE) & 9 Adan &

3) Eradication of blindness

3T 3o

4) Vaccination of children

ST T ST &

Correct Answer: Vaccination of children

Ty T ST &

Candidate Answer: Nutrition to Pregnant Women
Tl A3 & T MR A

Question 48.Who is the new Director of Film and Television Institute of India (FTII) ?

AR fheat 3R Celifasta TEAe (FTII) & AT fAdereh i § ?
Options:

1) Prashant Pathrabe

Teled TR

2) Amol Palekar

37H gTele]

3) Shabana Azmi

QUSTT 3TSTAT

4) Bhupendra Kainthola

oG FHedler

Correct Answer: Bhupendra Kainthola

Ueg Fedier
Candidate Answer: [ NOT ANSWERED ]

Question 49.Which cell disorder in our body is responsible for colour blindness?

JUIHAT AR IR #F o IR T ITSTEY & HRUT BT § ?
Options:

1) WBC

ad TR F3

2) Cone cell

Qi PRI

3) Rod Cell

STl SHITRIRT

4) Neuron

e

Correct Answer: Cone cell
Qi PITRIAT

Candidate Answer: Cone cell

Qi HIRIHT
Question 50.Who is the recipient of Man Booker International Prize 2016 for the novel 'The Vegetarian'?

' g afoRREE 3u=are & fAT a¥ 2016 &1 AT FH Grelaieialel TBoT fohdy Al ?
Options:

1) Orhan Pamuk

3@ T

2) Han Kang

& Fear

3) Elena Ferrante

TelAT TRIee

4) Tonkin

ieehet

Correct Answer: Han Kang

& e
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Downloaded from www.qgmaths.in

Question 51.A can finish a work in 7 days . B can finish the same work in 9 days . The days required to finish the work by both of them together.

A TR 1 T 7 ot # O T FeclT &1 B 381 1H ol 9 ToeT & Q1 X HehelT §1 ST bl FHETah il O ot A fohcTa ot ofdTal ?
Options:
1)
15
16
2)
15

16

15
T
16

4)
15

A
16

Correct Answer:
15

s
16

Candidate Answer:

15
-
16

Question 52.If the successive discounts be 20% , 10% and 5% , then the single equivalent rate of discount is

T FHHFTT T 20%, 10% 3R 5% &1 Y Fe T Uehel AT & 47 gaf 2

Options:
1) 31.6%

2) 31.5%
3) 31%

4) 31.4%
Correct Answer: 31.6%
Candidate Answer: 31.6%

Question 53.The ratio of number of boys and girls in a school of 720 students is 7 : 5. How many more girls should be admitted to make the ratio 1 : 1 ?

T e # 720 BT # g 3R st Y Hear 1 3T 7:5 §1 101 1 39T WWe & o el 3t et s vl @er g 2
Options:

1) 90

2) 120

3) 220

4) 240
Correct Answer: 120
Candidate Answer: 120

Question 54.The selling price of 6 bananas is equal to the cost price of 8 bananas. Then the percentage of profit is

6 el T TSR 3o 8 ol & AT Aed & NI &, al Ao FicTerd fhettr giam ?
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Options: Downloaded from www.qmaths.in

1) 20

2)
332
3

3) 25

4) 30
Correct Answer:

331
3

Candidate Answer:

331
3

Question 55.A basket contains 300 mangoes . 75 mangoes were distributed among some students . Find the percentage of mangoes left in the basket

T AR A 300 HHA &1 75 3T $o S A ARG R T 101 ey 7 o7 317t bt frer A RS

Options:
1) 70%

2) 72%
3) 76%

4) 75%
Correct Answer: 75%
Candidate Answer: 75%

Question 56.A man goes to a place on bicycle at speed of 16 km/hr and comes back at lower speed . If the average speed is 6.4 km/hr in total , then the return speed
(in km/hr) is

Teh il 16 Toh. 7. /aroer 1 a1fey & arsfehel I fohel TUTeT o) SiTelT € 3R et a1fer & A 317l &1 91 ot A 3ty arfey 6.4 .3l /erver §, oY aroe 3 g arfer
ferctetr (for.3t./eier) giefr 2

Options:
1) 10

2)8
3)6

4)4
Correct Answer: 4
Candidate Answer: 4

Question 57.The simple interest on a certain sum of money at the rate of 5% per annum for 8 years is Rs. 840 . Rate of interest for which the same amount of
interest can be received on the same sum after 5 years is

R eI TR 5% a1 e & 8 I T ATRT 53T Rs. 840 § 5 ¥ §Te; 38 TR TR AR 3= &) 31T wTed g af sATeT hr &X fhceir giaft 2

Options:
1) 7%

2) 8%
3) 9%

4) 10%
Correct Answer: 8%
Candidate Answer: 8%

Question 58.
IfC+ %: 3, then the value of (C — 3)?+§is

afe ¢+ ¢ =3, 8@l (C - 3)7 + 530 1 T 82
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Options: Downloaded from www.qmaths.in

1)2
2)0
3)3

4)1
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 59.

1
If 2x + o =1, then value of x2+ —— is

1
Hdx2

1
iy 2+ =1, BraTx2+ T AT FATRIEN ?

Options:
1)0

2)1
3) 1/4

4)2
Correct Answer: 0
Candidate Answer: 1/4

Question 60.0 is the orthocentre of AABC , and if zBOC = 110° then «BAC will be

0, AABC &l oieisheg, & 3R If¢ 2BOC = 110° &, A 2BAC fhrcaT g1 ?
Options:

1) 110°

2) 70°

3) 100°

4) 90°
Correct Answer: 70°
Candidate Answer: 70°

Question 61.BE and CF are two altitudes of a triangle ABC. If AB = 6 cm , AC = 5 cm and CF = 4 cm , then the length of BE is

BE 31 CF weh fefst ABC % o 2ol §1 afe AB=6 &.7., AC=5 .7 31 CF=4 &.#., &Y BE 1 oiag = giaft ?
Options:

1)4.8cm

4.8 7.7

2)7.5cm

7.5 3.7

3)3.33cm

3.33 9.9

4)5.5cm

5.5 3.

Correct Answer: 4.8 cm
4.8 T

Candidate Answer: 4.8 cm
4.8 WA

Question 62.The circular measure of the included angle formed by the hour hand and minute hand of a clock at 3 PM will be

T 3 Y g AT g3 3N AeTe B gS qan Qe 3 9 o1 HAfdve HIoT 1 god AT T gl ?
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Options: Downloaded from www.qmaths.in

1)
m/4

2)
/3

3)
5m/12

4)
/2

Correct Answer:
/2

Candidate Answer:
/2

Question 63.
(2.3)%+40.027

(2.3)3—0.69 + 0.09

The value of

(2:3)*+0.027
(2.3)3-0.69 + 0.09

Options:
1)2

& AT FT & 7

2)2.27
3)2.33

4) 2.6
Correct Answer: 2.6
Candidate Answer: 2.6

Question 64.The average of 100 observations was calculated as 35.It was found later, that one of the observation was misread as 83 instead of 53. The correct
average is :

100 graeTuit &1 3iad 35 RS ford forar 1T 21| 91e & Ig @7 917 o Teh V870 & aTeldlT & 53 T o7 83 UeT 17| JeY 3T s ar ?

Options:
1) 32.7

2) 34.7
3)35.7

4) 36.7
Correct Answer: 34.7
Candidate Answer: 34.7

Question 65.If Vx - Vy = 1, Vx + Vy = 17 then vxy = ?

FREVx-Vy =1, Vx+Vy=17garvxy =2

Options:
1) V72

2) 72
3) 32

4) 24
Correct Answer: 72
Candidate Answer: 72
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Question 66. Do 6oadeclzl from www.gmaths.in

Ifx=vV3+ L e f -
x = “—i 2T e value a X — 4 el
V3

is
W42 243
=

1 [ 126\ § 1
r=V3+— = [ = ——=
R x=vie L grel ( ,—ﬂj( x_z\@) T AT FT &7
3
Options:
1){
S

2)
23

3

3)5/6

4)2/3
Correct Answer: 5/6
Candidate Answer: [ NOT ANSWERED ]

Question 67.
Ina AABC,BC is extended upto D ;

1
LACD = 120°,/B =5 £A . Then £Ais

Udh AABCH,BC &I D deh deHT AT &;
1
£ACD = 120°, 4B = Em.a’rmw%?

Options:
1) 60°

2) 75°
3) 80°

4) 90°
Correct Answer: 80°
Candidate Answer: 80°

Question 68.0 is the centre of a circle and AB is the tangent to it touching at B . If OB = 3 cm. and OA =5 cm , then the measure of AB in cm is

O U& gl &1 3o & 3T AB 30a! B TR T &Y W #IT @181 A OB = 3 &AL, OA =5 &AL g, AT AB M A A AT R § ?

Options:
1) V34

2)2
3)8

4)4
Correct Answer: 4
Candidate Answer: 4

Question 69.
2
If Sin 31° = ;Ti’w value of

Sec 31° - 5:n 59° is

FfE sin31° = ga‘ra‘r

Sec 31°-5in59° HIAAFTE ?
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Options: Downloaded from www.qmaths.in

1)

2

X

Ve
Correct Answer:
2

X

Candidate Answer:
2

X

Question 70.The area of the largest sphere (in cmz) that can be drawn inside a square of side 18 cm is

18 A, T dTe T & $NR FATT T Feol ATl HAH 3 Il h7 &1l (F.3. F ) Tt ghem 2

Options:
1) 972n

2) 1166471
3) 360

4) 288N
Correct Answer: 9721
Candidate Answer: [ NOT ANSWERED ]

Question 71.A tower is 50 meters high.Its shadow is x metres shorter when the sun's altitude is 45° than when it is 30° . The value of x in metres is

Tk aX 50 AreX Far §1 o GaT I &1 M oo 45° gIaT § 39 T 3! ORI 3H FAET B Jofel & THH Go G a1 MY o1y 30° 81T &, @ x AL o el §1 X B #H1ed
7. F e g ?

Options:
1) 50v3

2)50 (V3-1)
3) 50 (V3 + 1)

4) 50
Correct Answer: 50 (V3 - 1)
Candidate Answer: 50 (V3 - 1)
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Question 72.The following pie-chart shows (@A IThoattech from RV dag) Bt S cHand answer the following questions
FRfafRd Ig-are & v o 7 v oF F [Affie JAval & 3regae T S eRi/r 7137 §1 UTS-91e T 18T Fleh 3cal Qiav|

The time spent to study history and chemistry is 4 hours 30 minutes , Then the student studied physics for

ST 3R T 7 3T ey H 4 "oe 30 AT T THT 91 Y o o Hif i oS fhae gE g & ?
Options:

1) 1 hour 30 min

1 ger 30 fAere

2) 2.9 hour ( approx.)

2 .9 T ( SHETIAET)

3) 2 hours

28

4) 3 hours

khor

Correct Answer: 3 hours
38

Candidate Answer: 3 hours

3ge

Question 73.The following pie-chart shows the study - time of different subjects of a student in a day . Study the pie chart and answer the following questions

AT uS-a1c 7 U et 7 v o & [Affiea vl & 31euae Ta7 Y =i/ a7 §| Us-a1e & 3100« aeh 3cal ST |

If the student studied chemistry for 3 hours , then he / she studied geography for

IfE BT 7 TR Y TGTS 3 TUC &Y, A5 36T 7T T TGTS fohelel GH 7 T ?
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Options: Downloaded from www.qmaths.in

1) 1 hour

1 ger

2) 2 hours

28

3) 1 hour 30 minutes

1 ger 30 fBee

4) 2 hour 30 minutes

2 Te 30 fAeTe

Correct Answer: 2 hours
pR:r

Candidate Answer: 2 hours

26

Question 74.The following pie-chart shows the study - time of different subjects of a student in a day . Study the pie chart and answer the following questions

rfaf@d us-are & veh R & ver o & RAffea vt & 3reags gog Y e 737 &1 I18-37¢ &1 eI F 3cak Sov|

If the student studied 10 hours in a day , then he/ she studied mathematics for

T oI o T & 3 10 G0 Yers il df 3 10T T IaTs ohder o 7 ?
Options:

1) 3 hour

kit

2) 10/3 hour

10/3 €&

3) 1/3 hour

1/3 ger

4) 3/10 hour

3/10 ger

Correct Answer: 3 hour
38

Candidate Answer: 3 hour
kit

Visit www.gmaths.in for tons of free study materials and latest exam updates.
http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccfO9bb87 26/32



21/09/2016 Staff Selection Commision

Question 75.The following pie-chart shows @y ThO- @itk ChFiE® P Wrpvivydg} AT PS crand answer the following questions
ArAfafad us-arc 7 v et & ven o & Affiea vt & rtaaa aa g Y g2/ 737 § | uE-91é & 3180a« ad 3cal Sfav|

Chemistry
15%
Mathematics
30%
Physics
20%
Geography
10%
Others 3
10% History

15%

Instead of 10% , if the student spends 15% to study other subjects and the time is taken from the time scheduled to study mathematics and if he/ she used to study
20 hours per day , then the difference of time for studying mathematics per day is

I O 31T AT Ut & 10% FI ST 15% THT 0T § 3R I8 T 98 170 Yoot & eiRa Tag & & Peaar § 39 afe 3u= ufafes 20 gue gers S g, ar
gfafes a1fora gt & ToT 7 3R fhd=T & ?
Options:

1) 30 minutes

30 fAsie

2) 45 minutes

45 e

3) 1 hour

1 ger

4) 1 hour 30 minutes

1 ger 30 fA=e

Correct Answer: 1 hour

1 ger

Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

CONSCRIPT

Options:

1) DRAFT

2) DRAW

3) ENCIRCLE

4) SUBSCRIBE

Correct Answer: DRAFT

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

CAPTIVITY
Options:

1) SLAVERY

2) PERMISSION
3) FREEDOM
4) LIMITATION

Correct Answer: FREEDOM
Candidate Answer: LIMITATION

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Vivacious

2) Vivascious

3) Vivasious

4) Vivacouse

Visitewwsmpsggmaths.in for tons of free study materials and latest exam updates.

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MDg=&appid=1a4fff78943b24af40c79deccf09bb87 27/32



21/09/2016 Staff Selection Commision

Candidate Answer: Vivascious Downloaded from www.qmaths.in

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The job for drawing water (A) / from the village well is usually (B) / carried out by the women and young girls. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I remember him as (A) / someone who was a lot nicer (B) / than circumstances warranted. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Several days passed before (A) / Jeff worked over enough (B) / courage to return to the house. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: [ NOT ANSWERED ]

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The starving man able to walk.
Options:

1) can barely

2) were barely

3) are barely

4) was barely

Correct Answer: was barely
Candidate Answer: was barely

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The new railway counter at Dwarka should all travellers.
Options:

1) benefit

2) reward

3) reserve

4) provide

Correct Answer: benefit

Candidate Answer: provide

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

My younger brother my grandfather.
Options:

1) looks on

2) looks after

3) looks to

4) looks of
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Candidate Answer: looks after Downloaded from www.qmaths.in

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To keep in abeyance
Options:

1) In a state of permanence
2) In a state of emergency
3) In a state of suspension
4) In a state of revision

Correct Answer: In a state of suspension
Candidate Answer: In a state of suspension

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To be in a fix

Options:

1) In pain

2) In distress

3) Depressed

4) In a difficult situation

Correct Answer: In a difficult situation
Candidate Answer: In a difficult situation

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To break the ice

Options:

1) Made people angry

2) Made people laugh

3) Made people excited

4) Made people relaxed and comfortable

Correct Answer: Made people relaxed and comfortable
Candidate Answer: Made people excited

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

An abattoir is .

Options:

1) a place where animals are slaughtered

2) a place where abbots stay

3) a title of respect given to a priest or abbot
4) a place where animals are worshipped

Correct Answer: a place where animals are slaughtered
Candidate Answer: [ NOT ANSWERED ]

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A man with abnormal habits
Options:

1) Eccentric

2) Frantic

3) Idiotic

4) Sulky

Correct Answer: Eccentric
Candidate Answer: Eccentric

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Words inscribed on the tomb
Options:

1) Epigraph

2) Epigram

3) Epitaph

4) Elegy

Correct Answer: Epitaph
Candidate Answer: Epitaph
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Question 91.A sentence/a part of the sente@@wmib@ad eduaﬁpgmivwwwqq‘m a’th@.viinmprove the sentence. Choose the correct

alternative and click the button corresponding to it. In case no improvement is needed, click the buttoh corresponding to "No improvement".

Sunita's sister had ribbons on her hair.
Options:

1)in

2) over

3) through

4) No improvement

Correct Answer: in

Candidate Answer: in

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

She has an ability for Mathematics.
Options:

1) attitude

2) aptitude

3) altitude

4) No improvement

Correct Answer: aptitude
Candidate Answer: aptitude

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I was impressed of it.
Options:

1) by

2) on

3) for

4) No improvement
Correct Answer: by

Candidate Answer: for

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Only high officials have access with the President.
Options:

1) to

2) for

3) from

4) No improvement

Correct Answer: to

Candidate Answer: to

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

No other snake is as poisonous as this one.
Options:

1) are as poisonous as this one

2) is more poisonous as this one

3) is poisonous than this one

4) No improvement

Correct Answer: No improvement
Candidate Answer: is more poisonous as this one

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The first working steam-powered vehicle was designed and most likely built by Ferdinand Verbies, a Flemish member of a Jesuit mission in China around 1672. It was
a 65 cm long scale-model toy for the Chinese Emperor, that was unable to carry a driver or a passenger. It is not known if Verbiest's model was ever built. Nicolas-
Joseph Cugnot is widely credited with building the first full-scale, self-propelled mechanical vehicle or automobile in about 1769; he also created a steam-powered
tricycle. He constructed two steam tractors for the French Army, one of which is preserved in the French National Conservatory of Arts and Crafts. His inventions
were however handicapped by problems of water supply and maintaining steam pressure. In 1801, Richard Trevithick built and demonstrated his Puffing Devil road
locomotive, believed by many to be the first demonstration of a steam-powered road vehicle. It was unable to maintain sufficient steam pressure for long periods.
Sentiment against steam-powered road vehicles led to the Locomotive Acts of 1865. In 1807 Nicephore Niepce and his brother Claude probably created the world's
first internal combustion engine which they called Pyreolophore.
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Options: Downloaded from www.qmaths.in

1) Verbiest

2) Cugnot

3) Trevithick

4) Niepce

Correct Answer: Cugnot
Candidate Answer: Cugnot

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The first working steam-powered vehicle was designed and most likely built by Ferdinand Verbies, a Flemish member of a Jesuit mission in China around 1672. It was
a 65 cm long scale-model toy for the Chinese Emperor, that was unable to carry a driver or a passenger. It is not known if Verbiest's model was ever built. Nicolas-
Joseph Cugnot is widely credited with building the first full-scale, self-propelled mechanical vehicle or automobile in about 1769; he also created a steam-powered
tricycle. He constructed two steam tractors for the French Army, one of which is preserved in the French National Conservatory of Arts and Crafts. His inventions
were however handicapped by problems of water supply and maintaining steam pressure. In 1801, Richard Trevithick built and demonstrated his Puffing Devil road
locomotive, believed by many to be the first demonstration of a steam-powered road vehicle. It was unable to maintain sufficient steam pressure for long periods.
Sentiment against steam-powered road vehicles led to the Locomotive Acts of 1865. In 1807 Nicephore Niepce and his brother Claude probably created the world's
first internal combustion engine which they called Pyreolophore.

Cugnot built steam tractors for:
Options:

1) The Chinese Emperor

2) The French Army

3) The Jesuit mission

4) The French Conservatory

Correct Answer: The French Army
Candidate Answer: The French Army

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The first working steam-powered vehicle was designed and most likely built by Ferdinand Verbies, a Flemish member of a Jesuit mission in China around 1672. It was
a 65 cm long scale-model toy for the Chinese Emperor, that was unable to carry a driver or a passenger. It is not known if Verbiest's model was ever built. Nicolas-
Joseph Cugnot is widely credited with building the first full-scale, self-propelled mechanical vehicle or automobile in about 1769; he also created a steam-powered
tricycle. He constructed two steam tractors for the French Army, one of which is preserved in the French National Conservatory of Arts and Crafts. His inventions
were however handicapped by problems of water supply and maintaining steam pressure. In 1801, Richard Trevithick built and demonstrated his Puffing Devil road
locomotive, believed by many to be the first demonstration of a steam-powered road vehicle. It was unable to maintain sufficient steam pressure for long periods.
Sentiment against steam-powered road vehicles led to the Locomotive Acts of 1865. In 1807 Nicephore Niepce and his brother Claude probably created the world's
first internal combustion engine which they called Pyreolophore.

The problem with Trevithick's Puffing Devil was:
Options:

1) Its incapability to carry a driver or a passenger
2) With the water supply

3) Its inability to maintain steam pressure

4) Its combustion engine

Correct Answer: Its inability to maintain steam pressure
Candidate Answer: With the water supply

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

The first working steam-powered vehicle was designed and most likely built by Ferdinand Verbies, a Flemish member of a Jesuit mission in China around 1672. It was
a 65 cm long scale-model toy for the Chinese Emperor, that was unable to carry a driver or a passenger. It is not known if Verbiest's model was ever built. Nicolas-
Joseph Cugnot is widely credited with building the first full-scale, self-propelled mechanical vehicle or automobile in about 1769; he also created a steam-powered
tricycle. He constructed two steam tractors for the French Army, one of which is preserved in the French National Conservatory of Arts and Crafts. His inventions
were however handicapped by problems of water supply and maintaining steam pressure. In 1801, Richard Trevithick built and demonstrated his Puffing Devil road
locomotive, believed by many to be the first demonstration of a steam-powered road vehicle. It was unable to maintain sufficient steam pressure for long periods.
Sentiment against steam-powered road vehicles led to the Locomotive Acts of 1865. In 1807 Nicephore Niepce and his brother Claude probably created the world's
first internal combustion engine which they called Pyreolophore.

What is meant by "Sentiment" in the context of the given paragraph?
Options:

1) Depression

2) Fascination

3) Celebration

4) Resentment

Correct Answer: Resentment
Candidate Answer: Fascination
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Question 100.A passage is given with 5 qu@@wmimadedp*m WWWWqum&; inach question out of the four alternatives

and click the button corresponding to it.

The first working steam-powered vehicle was designed and most likely built by Ferdinand Verbies, a Flemish member of a Jesuit mission in China around 1672. It was
a 65 cm long scale-model toy for the Chinese Emperor, that was unable to carry a driver or a passenger. It is not known if Verbiest's model was ever built. Nicolas-
Joseph Cugnot is widely credited with building the first full-scale, self-propelled mechanical vehicle or automobile in about 1769; he also created a steam-powered
tricycle. He constructed two steam tractors for the French Army, one of which is preserved in the French National Conservatory of Arts and Crafts. His inventions
were however handicapped by problems of water supply and maintaining steam pressure. In 1801, Richard Trevithick built and demonstrated his Puffing Devil road
locomotive, believed by many to be the first demonstration of a steam-powered road vehicle. It was unable to maintain sufficient steam pressure for long periods.
Sentiment against steam-powered road vehicles led to the Locomotive Acts of 1865. In 1807 Nicephore Niepce and his brother Claude probably created the world's
first internal combustion engine which they called Pyreolophore.

The Pyreolophore was ?

Options:

1) A self-propelled mechanical vehicle

2) A steam-powered tricycle

3) A steam tractor

4) The name of the world's first internal combustion engine

Correct Answer: The name of the world's first internal combustion engine
Candidate Answer: The name of the world's first internal combustion engine
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